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NEW QUESTION 51 - NEW QUESTION 60: 1.| 2016 Latest Braindump2go 300-070 PDF & 300-070 VCE 199Q Dumps Instant

Download:http://www.braindump2go.com/300-070.html  - 100% Exam Pass Guaranteed! 2.| 2016 New 300-070 Exam Questions

PDF:https://drive.google.com/folderview?id=0B272WrTALRHcZWRDaFVIZUdBbjA&usp=sharing   QUESTION 51Which four

modes are available on the Cisco TelePresence MCU MSE 8510 to connect to a gatekeeper? (Choose four.) A.    direct modeB.   

H.225-routed modeC.    H.265-routed modeD.    H.245-routed modeE.    full proxy modeF.    partial proxy mode Answer: ABDE

QUESTION 52Which two Cisco products allow the use of a dial plan with E.164, H.323, SIP, and DNS? (Choose two.) A.    Cisco

ExpresswayB.    Cisco Unified Communications ManagerC.    Cisco Unified Border ElementD.    Cisco IM and PresenceE.    Cisco

TelePresence Video Communication Server Answer: AE QUESTION 53Refer to the exhibit. To reach an external number, a user

first dials a 9. Which route pattern will be matched if a user dials the toll-free number 18005550123?  

  A.    911B.    9.[2-9]XXXXXXC.    9.1[2-9]XX[2-9]XXXXXXD.    9.1800XXXXXXXE.    9.1866XXXXXXXF.   

9.1877XXXXXXXG.    9.1888XXXXXXXH.    9.1900XXXXXXXI.    9011! Answer: D QUESTION 54Refer to the exhibit. When

a user dials 919005551212, the call fails. Which change do you need to make for this call to be successful?  
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  A.    Change the route partition.B.    Change the gateway or route list.C.    Change the route pattern to the correct number of digits.

D.    Change the call classification to OnNet.E.    Change the route option. Answer: E QUESTION 55Where do you configure a SIP

route pattern? A.    Call Routing > Route/Hunt > SIP Route PatternB.    System > SIP Route PatternC.    Call Routing > SIP Route

PatternD.    Advanced Features > SIP Route Pattern Answer: C QUESTION 56Refer to the exhibit and configuration output. What

are the two main ways from New York to call Extension 6001 in England? (Choose two.)  

 sh run | s Dial-peerdial-peer voice 2 voipdestination-pattern 6...preference 0session-target ipv4: 200.10.10.5dtmf-relay sip-notify

dial-peer voice 3 potsdestination-pattern 6...preference 1port 0/0/0:23prefix 757385dtmf-relay sip-notify A.    The first way is WAN.

B.    The first way is PSTN.C.    The second way is WAN.D.    The second way is PSTN. Answer: AD QUESTION 57Refer to the

exhibit. Which party has a SIP B2BUA role in the call?  

  A.    172.17.4.100B.    10.100.4.65 and 172.17.4.100C.    10.100.4.65D.    None of the parties has a B2BUA role in the call.E.   

10.100.4.68 and 10.100.4.65 Answer: C QUESTION 58Which three commands show the output of an active video call? (Choose

three.) A.    show vrm active_callsB.    show call active video briefC.    show voip rtp connectionsD.    show voice callE.    show

voice call summaryF.    show video dsp Answer: BCE QUESTION 59What are two characteristics that are associated with the End

User and User account types? (Choose two.) A.    They cannot use LDAP.B.    They are used to authorize applications.C.    They can

utilize LDAP.D.    The Application is associated with the End User and User account types.E.    They can be listed in a directory.

Answer: CD QUESTION 60Which two features are advantages of deploying a cluster over WAN? (Choose two.) A.    shared line

appearancesB.    centralized DSP resourcesC.    extension mobility within the clusterD.    scalability up to 20 sites, if there is

sufficient IP WAN bandwidthE.    failover to co-resident Cisco Unified Call Manager Express platforms Answer: AC 
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